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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. '

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Ql.

(a)

@us A
SECTION A

U WRA FE Q) TEEENS IdE) ;9 IR T H I FA 8 | g
IAE F I ¥ @AH Shear, T @ ‘I H savEshar gl 2 | T %
IETCTEEY U I9-3cure ‘@ ot forn fopeht afeifees @mra < wrea g 2 | 3eurg
‘o7 ufa 3E T 3% @ 3R T ufd 3R T 8 F AN W AW 1 HHd & |
3ol A FB IUIATE ITd ThE T 2% AW T o S Tehd 8, I Bl 8 BT
B i fore w0 i 9fq 36 AP T 12 | q@igEE guid § R W R
5 THIEA d HI AT S Gehal & | HEE T % ufd IHR I W A
3 gTgal W HAl & | % <t wfa s fafmin & § wfsen T 3 00 H
3 e Y 1 g9 ol @ 3 T f ufa 58 faftmto e wfen T 3
IV % oSl 4 92 A1 5 52 1 99T AT 8 | Hih Iug W, T I I
ufsea &1 giomE 2, @ % IATE H HIS g TE o e 8 | whean T |
IT’ ¥q IuTey oY HAW: 18 3T 215 ¥ |

30 GEET 1 YTAuTed, HEE i SwaH a1 Bq, @ i 2IH H W@d 8§, 9 4
‘S &t 3carfed I T arelt gEn & fuion, v va b Aied % &9 1§ HifSe |
A chemical company produces two chemical products : ‘A’ and ‘B’
Production of both products requires the same process, T" and ‘IT’. The
production of ‘B’ results also in a by-product ‘C’ at no extra cost. The
product ‘A’ can be sold at a profit of ¥ 3 per unit and ‘B’ at a profit of
T 8 per unit. Some of this by-product can be sold at a unit profit of
¥ 2, the remainder has to be destroyed and the destruction cost is
Z 1 per unit. Forecasts show that up to 5 units of ‘C’ can be sold. The
company gets 3 units of ‘C’ for each unit of ‘B’ produced. The
manufacturing times are 3 hours each per unit for ‘A’ on process T and
‘I, and 4 hours and 5 hours per unit for ‘B’ on process T and ‘IT,
respectively. Because the product ‘C’ results from producing ‘B’, no time
is used in producing ‘C’. The available times are 18 and 21 hours of
process ‘I" and ‘IT’, respectively.

Formulate this problem as an LP model to determine the quantity of ‘A’

and ‘B’ which should be produced, keeping ‘C’ in mind, to make the
highest profit for the company.
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(b)

(c)

(d)

(e)

FRIAH O o el 3 qarn & i whra dhadt B 6, S8 s,
3 YU, 3R IFHh WY AR §e =ik |7 ¥g fhw g uRewfya, o,
forgetwor, gum o fremm w0 (S usm )/ gaw o & amee
TTfUd hLaT & ?

Business writer Tom Peters has suggested that in making process
changes, we should “Try it, test it, and get on with it.” How does this

square with the Define, Measure, Analyse, Improve and Control
(DMAIC)/continuous improvement philosophy ?

froia wemes @ (Shuwwm.) =0 R 2 dwm.uE. gy % e i fafm
faftmi &1 avfa fifdie o 37 duesl 1 sfiers Hifg |

What is Decision Support System (DSS) ? Describe the different
methods of classification of DSS applications and state their
components.

e ITE I ugfa ®n R 2 sew ugfa 39 fafie emwnfea sommi =
afiyers hifve | w wea fE= uglt 1 sfafte =@ F e sravas S
i g fFuffia Hifse |

What is Kanban Production Control System ? State the different

possible approaches for Kanban System. Determine the number of
Kanbans needed for setting up a Kanban Control System.

TH HF % 98 TH WE § 1000 Thedi 1 fafmion e ol 3 @ # | @9

‘@, T M W wfa " FHA: 500, 300 3R 200 T H1 Fwi F@ F | GE

‘W, T AR D °q FAM 90%, 92% 3 95% Tl B HHB orE Afor

fepen ST 2

()  Fgfes® ¥ ¥ wAfa th e I AHS [UEEl B9 s gefear
fopat 2 2

() A 7@ T & fop agfEe® wv & wafa uh wpe WS U §, @
3Heh! gruTioar forat 2 o Tper G99 9’ @ T @ 2 |

A company has 3 plants manufacturing 1000 scooters in a month. Plants

‘A’, ‘B’ and ‘C’ manufacture 500, 300 and 200 scooters per month

respectively. 90%, 92% and 95% scooters are rated standard quality in

plants ‘A’, ‘B’ and ‘C’ respectively.

(1) What is the probability that a scooter selected at random is of
standard quality ?

(i1)  What is the probability that a scooter selected at random comes
from plant ‘B’ if it is known that the scooter is of standard
quality ?
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Q2.

(a)

(b)

qyeE iEred e w= § 2 fafim sene Feiem worifo 6t fadsm
HIFT | T=T IATEH ST § Treg T ANl i AfeIE i |
What is Aggregate Operations Plan ? Discuss the different Production

Planning Strategies. State the relevant costs associated with Aggregate
Production Plan. 15

ute fafi wor & a1 1 g o 9n fofiem sm g Saanfea gehreat
e fefafaa =9 1 vefifa 2

JAT % TR
TR <} 9 T z g
I 40 50 30 70 60
IT 50 70 70 40 50
I1I 70 60 70 80 80
1A% 30 50 40 80 20

W gEal  AUR W, 1 frsed Feeen s @@ @ f () wem
JeaTehal 1 gfE & wm firm T A 2 Gi) fafm =1 me seare wme
2 2 [6% |1efeRal TR T qEn Hif] '

[arfereh e 2]

The following represent the number of units produced by four different

workers using five different types of machines :

Machine Types
Worker A B C D E
I 40 50 30 70 60
II 50 70 70 40 50
III 70 60 70 80 80
v 30 50 40 80 20

On the basis of this information, can it be concluded that (i) workers do

not differ with regard to mean productivity (ii) mean production. is same

for different machines ? [Test at 5% level of significance] 10+10=20
[Tables attached]
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Q3.

(c)

(a)

frferfiaa srihe # 2018 o us wferih when 4 nfor & a7 fow w2
L 26 31 23 45 35 Rl G
4% N 21 39 32 24 42 a6 | 48 28
31 46 41 28 34 26 38 . 1''36 26
meﬁﬁﬁmwﬁqwﬁﬁaﬁuﬁwﬁﬁahhmﬁﬁ:
ST 8 % ITHR & Teh AGfedeh THAT TAMHT HIT |

q1ey ThiT 3R 39! A e (standard error) 1 T FATHH ST |

3 fafafea agfes demsi & v w6 §

1346 5471 . BZ74 1865 3283 1164 9247 ' 5764

The following data gives the marks in Mathematics in a competitive

examination in 2018 :

37 24 26 31 23 45 35 a4 | 27 25
43 27 21 39 32 24 42 36 48 23
31 46 41 28 34 26 38 40 356 . 26

Describe the procedure and draw a random sample of size 8 without
replacement from the given marks by suitable method.

Give an estimate of mean score and its standard error.

You may use the following random numbers :

1346 5471 5274 1865 3283 1164 9247 5754

3-8 U T WE-HY 2 S Setde W UeH UH.EL.U. UISshHl i faehfEd @
I fquoE &t B | FEE adae | SR § oraftud R S 150 ST
foges et @ | were 9y % o Feht @ aifafen srifew o it savaswar
2| T o aul % fou wEft % gg drar § et adue safeafa § €
Ffafes @9 = 9¢ W oH F1 foheu B, g 9% WEN UH ¢ HaA §
ARG B9 I Sawhal gFft | TEU giEied @ U AU Wad H
ARG # 31 % Th I fohed W Hwt foem W @ R
% 3 famey f5a W gt foam = @ @ 98 vl aiEmem #1 A wRa
% Teh B TR § gl TG A &1 & | HEO & fou v <ten foshed 2
FTAR # G Uh A WG Hl 92 W oA | I FEA uge faehed w1 wEa
Hdl & AN ga9E Fafeafd § 7 e 92 W Ad 8, 91 3 9961 & 3 U 98
FTAR T T 9o U2 T A Hehll 8 YT WY WA & DI AR H AN &l
Tt B |

et o adam feafa Tt o sfafes qza fmfafed 2 -
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1. 9T o YT A 3 991 dh IASiadt & 75 Sfdvrd et § |

2. SER ¥ gdue rafedfa # g a ¥l ¥g AU WE Bl G W oA H G
¥ 7,50,000 Sfq ¥ BN |

3. WY WG H 9FUl ¥9 ¥ TIEFRY W T 10 9@ @9 ghl 3 AU W
%I 9¢ W W T 5,00,000 9fa a¥ =13 g1 |

4. STAR § UH AT Y9 § TYHRG B9 T T 2,00,000 F @ 31K U
o ! 9 W ol W T 6,50,000 @ &1 | -

5. gl ford) oft wma ugt w© o gl R |
6.  Ife o ot W at SFTel 59Nt 0 39 wa o1 fmior s |

7. "W difST fo o SR a8 saftm & o wft v o e
A E |

3-f1em =1 = e =R 2

E-Education is a new start-up that develops and markets MBA courses
offered over the Internet. The company is currently located in Bangalore
and employs 150 people. Due to strong growth, the company needs
additional office space. The company has the option of leasing additional
space at its current location in Bangalore for the next two years, but
after that will need to move to a new building. Another option the
company is considering is moving the entire operation to a new building.
Another option the company is considering is moving the entire
operation into a small Central India town immediately. A fourth option
is for the cdmpany to lease a new building in Bangalore immediately. If
the company chooses the first option and leases new space at its current
location, it can, at the end of two years, either lease a new building in
Bangalore or move to a small town in Central India.

The following are some additional facts about the alternatives and

current situation :
1 The company has a 75% chance of surviving the next two years.

2. Leasing the new space for two years at the current location in
Bangalore would cost ¥ 7,50,000 per year.
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Moving the entire location to Central India would cost ¥ 10 lakhs.
Leasing a new building would cost only ¥ 5,00,000 per year.

Moving to a new building in Bangalore would cost ¥ 2,00,000 and
leasing the new building would cost ¥ 6,50,000.

The company can cancel the lease at any time.

The company would build its own building in five years, if it
survives.

Assume all other costs and revenues are the same no matter
where the company is located.

What should E-Education do ?

b @

(ii)

(1)

(i)

SDF-B-MGMT

29 @Rl i e gfver fear mn o uw Are d 9w wdend e
T | wfien 1 3T qdien 4 % w9 feu o E

AR SHATH 1/ 2|8|4|5|6|7|819]10
gl glien | o7 50|42 |51|42|60|41|70|55|62]38
<reft gften & 37 62|40 (61 |52|68|51|64|63|72]|50

T T 1 W e 4 % TR GUR YR # # ? 5% "efwa ' W

giieqor hifs |

(et ST 2

= g5 il fagwarett wi sAfeaw IS | o qes gm= faa
1§ ? 39 Hawd ol faa=ar Fifsu |

Ten accountants were given intensive coaching and four tests
were conducted in a month. The scores of tests 1 and 4 are given

below :
Sl. No.of Accountants: | 1 |2 |3 |4 (5|6 |7 |89 |10
Marks in 15t Test : 50|42 |51 (42|60 |41|70|55|62 |38
Marks in 4th Test : 62|40 61|52 |68|51|64|63|72|50

Do the scores from test 1 to test 4 show an improvement ? Test
at 5% level of significance.

[Tables attached]

State the properties of the normal curve. What is a standard

normal distribution ? Discuss its importance. 10+5=
7
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(c) oMYfd *T@enm &= B ? AMYfd *T@aN Yoo & awa 991 3 ? AY(d J@e Ja-ed
61 AT STEYIRAT 8, 3 UHT H ok FS GUTT AH R E ?

What is a Supply Chain ? What are the elements of Supply Chain
Management ? What is the need to manage a supply chain, and what are
some potential benefits of doing so ? 15

Q4. (a) ITW T RIS 1 R ? 39 fafvm yemicAs &= &1 aui fifee |
3.3t & YEIT & Ay R w1 2

What is Enterprise Resource Planning ? Describe the different
functional areas of it. What are the advantages and disadvantages of
using ERP ? 15

(b) () UH AIEW & w@iaca # fafim yer & grafa-gii f faas fif
3R Tfa-glea & grag anmat i e Hifs |
(i) U foshar ¥ 9 Fi TE FEGIAT § @ YAS I A T 20 B I T
T 1 \T F qEHAE 1,000 FHEAT 7 | ARG AUE FHEA 2 W IR
Ueh 3T hl NG T 58 31N IFh1 WSRU ad Ufd a9 ufd 31¢ T 4
2, a1 & 9R frat arn @ s fean s =nfau 2
I. UH 99 6l Fal AT AvTa foperdt & 2
II. U a9 6 Fol YR arTd fohadt & 2
(1) Discuss the different types of inventory owned by a business and
state the costs associated with inventory.

(i1)  Items purchased from a vendor cost ¥ 20 each and the forecast for
next years’ demand is 1,000 units. If it costs ¥ 5 every time an
order is placed for more units and the storage cost is T 4 per unit

per year, what quantity should be ordered each time ?

I.  What is the total ordering cost for a year ?

II. What is the total storage cost for a year ? 8+7=15

(¢) A faew fed 9% (TE.duaH.) = R 2 e S . ¥ faftm =i ot
g WU § |iEfad wdedl 3R YRl w1 Gfasr 9ue hIfe |
wq. g e . i wiftwar o wasfat H gomn Hifse |

What is System Development Life Cycle (SDLC) ? Describe in detail the
different phases of SDLC and the duties and functions involved in each
‘stage. Compare the strengths and weaknesses of SDLC. 5+10+5=20
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Q@ vs B
SECTION B

Q5. (a) “TH.UAE. debidd S M W TSR 3IUeley HAd B | 9 "EaRd R UgE
gaTel & 3feres = faawr s giifvad @ i e oty g @ 2 17
39 ged H, TH.uH 3. & 98 H deh < |

“SMEs provide immediate large scale employment. They offer a method
of ensuring a more equitable distribution of wealth and national
resources.” In this context, give arguments in favour of SMEs. 10

(b) “fafay gum § Geddar I HE B R fOva d§ saEEifyes giasE qusdE
3 fosg 1 ST R § 17 39 awhey W vt hifste i wfasmi g
3P fopu o1 @ yAveedt 3-fawma & fafay s i fae=e i |

“Business firms across the world are applying Global e-Business in
various divisions to achieve success.” Comment on the statement and
discuss the various applications of Global e-Business used by firms. 10

© o A wRa # wfeW Yewe Sed % fafmi o fwow et
U STl Iuvh aeqen (Wb uA.E ) @ ufase e w1 foem
@d & | I ufasE & foe w1 sIfieloua w % SR B AH T
ey = e e 2 | 3l ey uftsem & wery frews @, df gfasm &
T # T sl 1 wfifea ot foma smamt & wes &1 2 fagw &
TIhI-SheddT Hid & foru 3mma fohm ufshan st S7oTan 2
Mr. Kumar intends to launch a Fast Moving Consumer Goods (FMCG)
firm in India dealing in the manufacture and marketing of personal care
products. He has assigned the task of designing the ‘Vision’ of the firm to
his Managing Director. If you were the Managing Director of the firm,
what dimensions would you include and what dimensions would you
avoid in the “Vision’ of the firm ? What process would you adopt to

envision the Vision’ ? 5+5=10
@) WG o e % wardl 1 3 9T ITUT Hisd 8 @I 8 | et i
yfskar § sfemgai it fad=qr s |

In India, it is becoming increasingly difficult to push through
proposals of privatisation. Discuss the difficulties in the process of
privatisation. 10
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Q6.

Q7.

(e)

(a)

(b)

(c)

(a)

SEHTEp{deh JeHA Ud =g saaETee ol w38 ffgael & e d
FHCE o ‘T HTEhdeh ariiehto] <l forarem hifs |
Discuss Hofstede’s ‘Cross-Cultural Classification’ with reference to

multicultural management and its implications on international

business decisions.

SEEE H TSF i GeWIfiTa & deed §, sqgu™ o a1 &l g s9H %
e Torehia Tl w1 Se R W sfieded R T R | HeE s A
AT 1 ST "=, e g e & A fommiban, faemear sit
SRl Sl FHIUM HT 2 | “Hrg oo &l g & & 39 a1 sreferaen
! SGTaT ¢ % il I GIATKT |

In the context of State participation in business, the government efforts
to make business and commerce easy have been widely acknowledged.

The next frontier on ease of doing business is addressing pendency,
delays and backlogs in appellate and judicial areas. Suggest ways to

10

address the “law’s delay” and boost the economy. 10+10=20

g 6t fogw =mm ifa & =wia ‘e & Fafa g i fafim ggal =@
AR I | 2016 8 WRA gr Faifaa wg@ swgett <1 gefieg Hifse |

Evaluate the various initiatives of the ‘Exports from India Scheme’
under the Foreign Trade Policy of India. List the major goods exported

from India from 2016 onwards. 10+5=15

Tsh Higfehel fAial el o9 afEreri &1 god e favetwur e =mEd
# | o o gzma 4w for awfea werlt g fa goa s favemo fafy
%I IR SHET A1 |

A bicycle manufacturing company needs to do value chain analysis of its
operations. Suggest in detail as to which method of value chain analysis
should be adopted by the bicycle company.

Hiaie ANEEA 3R FHARe AT IqeRcd & Heg grary 6l faa=mT
HITIT | WRA | IR SMHET B GIRA 3 THR gRI -8 Hed 33T 7Y
37

Discuss the relation between Corporate Governance and Corporate

Social Responsibility. What steps have been taken by the government to

15

improve Corporate Governance in India ? 5+10=15
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Q8.

(b)

(c)

(a)

(b)

‘Frafa-smama frarfaftmal & w=ed #, fafa @rer 3g oot (wem-faa) &
faftm wuWel i 39 TerEl gfga’ samE Sifsw |

With reference to ‘Export-Import Procedures’, explain the ‘Different
Variants of Bill of Lading along with their Functions’ for an export

transaction.
@ 3 fafeg +rest 6 R fife & = gfmem (wd) “@faw
TR WHIfGE! 1 9 & fore Ifta g 2 |

Gi) A fafew fageal H faa= At o g s st 3§
worifoss il o aberargds Yera foRa s @ |

(1) Discuss the various factors as to why firms are motivated to adopt
the “Horizontal Integration Strategies”.

(ii)  Discuss the various principles by which Strategic Alliances can be

managed successfully in Indian companies. 8+7=15

(i)  WRd H GI3 HiH! B GUIAATHS 36T i |

(i) 39w SV SAfUEH % SF=aia YN B 8 ? JUWRHIHA! & Hifelh
AT T 8 ?

(1) Give a critical assessment of Cyber Laws in India.

(ii) Who is a consumer under Consumer Protection Act ? What are the

basic rights of consumers ? ' 5+10=15

‘3ra1 Mew feHe IE (RMG) % =Ha0™ ¥ Graf-ad T HF1 8 | et
w1 @330 AN FGEE F AR GHEIR HET Al & AN WA I
vt fauum frere 1 sto Fofe gfem o fen @

Ife oMy ‘org ew & ypveetd fawvm werww @, @ W fhA @t
prvsch fme T % e RiEl @ s 2 sped e
et i fredt 3 sl fafte ) faem foeamgds i |

‘Ada Apparels’ is a company dealing with ready-made garments (RMG)

business. The CEO of the company wants to expand his business
overseas and has conveyed his decision to his Global Marketing Director.
If you were the Global Marketing Manager of ‘Ada Apparels’, which all
‘Contractual Modes of Global Marketing Strategies’ would you adopt ?
Discuss any two contractual modes of global marketing strategies in

detail. 5+10=15
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(€)@

(ii)

(iii)

(1)

(ii)

(iii)

SDF-B-MGMT

Tty favetyor & SFHag P A9l ‘TEEHd W9 IUNH % HER
forirg e | |

Pt & wreT & wfavfr gea-fufon ® iy w0 T i
HTHI T GodToh hIfoTT |

AN ARAE. M. @ F IW F gu fFh wmeT W e
forerym v |

Differentiate between ‘Systematic Approach’ and ‘Processed Form
Approach’ of Environmental Analysis.

Evaluate the various factors which affect the Environmental
Appraisal of an organisation.

Do an Internal Analysis of any organisation using VRIO
Framework. 8+6+6=20
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n NZ| 005 0.025 0.01 0.005
1 6.314 12.708 31821 63.657
2 2,920 4.303 6.965 9.925
3 2.353 3.182 4.541 5.841
4 2132 . 2.778 3.747 4.604
5 2.015 2.5M 3.365 4.082
8 1.843 2.447 3.143 3.707
7 1.895 2.365 2.998 | 3.498
8 1.860 2.306 2.896 3.358
9 1.833 2262 2.821 3.250

10 1.812 2.228 2784 3.169
1" 1.796 220 278 3.106
12 1.782 2178 2.681 3.065
13 1.7 2160 2.650 3.012
14 1.761 2.145 2.624 2877
16 1.783 213 2,602 2.947
16 1.746 2120 2.583 2921
o 1.740 2110 2.567 2.898
18 1.734 2.101 2.552 2.878
19 1.729 2.083 2.539 - 2.881
20 1.725 2.086 2.528 2.845
21 1.721 2.080 2518 2.8
22 17 2.074 2.508 2818
23 1.714 2.069 2.500 2.807
24 1m 2.084 2.492 2797
25 1.708 2.060 2.485 2.787
26 1.706 2.058 2.479 27719
27 1.703 2.052 2473 2
28 1.701 2.048 2,467 2.763
29 1.699 2.045 2.462 2.766
30 1.697 2.042 2457 2.750
40 1.684 2.021 2.423 2.704
80 1.671 2.000 2.390 2,860
120 1.658 1.880 2.358 2817
w 1.645 1,860 2.326 2.576

*Abridged from Table 12 of Biometrika Tables for Statisticlans, Vol. |.
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